Property E Estates & Future Interests Exam:

Answers & Explanations

Overall, you did very well on this test.  The mean was 20.7, only 11 of you got fewer than 17/24, and 22(!) students got perfect scores.  The questions and answers are laid out below.  Correct answers are in bold type.  My comments are in italics.

The students’ names (from the first four panels) should be obvious except that River-acre includes Rivera. I threw in Diamond as a bonus.
(1) Which of the following future interests is not initially held by a grantee?
This is Fall 2010 Question 1.
(a) Contingent remainder in life estate.

(b) Possibility of reverter.  This is the future interest held by the grantor that follows a determinable present estate. 96.8% of you got this right, making it the easiest question on the test.
(c) Springing executory interest. A springing executory interest cuts off the grantor’s interest, but is always held by a third party, not by the grantor.
(d) Vested remainder in fee simple determinable. A vested remainder in fee simple determinable is followed by a future interest held by the grantor, but a remainder is always held by a grantee.
(2) All of the following were true “at common law” except :
This is Fall 2010 Question 24, which was a slight variation on Exam Bank Question 48.
(a) Executory interests were not permitted. Before 1536, no executory interests were allowed.  Since 1536, through the period we describe as “at common law,” both kinds have been allowed.  93.5% of you chose this answer, making it tied for the 5th easiest question on the test.
(b) The default present possessory estate was the life estate.

(c) Courts recognized the traditional estate of fee tail.

(d) The Doctrine of Destructibility of Contingent Remainders applied.

Question 3 is based on the following information:  In 2013, Amelia grants Maroon-acre “to Brett for life, then to Chris so long as he grows marijuana on the property, otherwise to Donald.”

This is a new question.  It is a variation of Fall 2007 Question 23, but the condition is changed from a complete ban on alienation, so its validity depends on the law of the jurisdiction regarding growing marijuana.  If growing marijuana is illegal, we would pencil out the condition, leaving Chris with a fee simple absolute.  If growing marijuana is legal, Chris has a vested remainder in fee simple on executory limitation.
(3) At the time of the grant, Chris has 
(a) A vested remainder in fee simple determinable, if growing marijuana is legal in the jurisdiction.  This is incorrect because the future interest is held by a grantee, not by the grantor. 17.2% of you chose this answer.
(b) A vested remainder in fee simple absolute, if growing marijuana is not legal in the jurisdiction.     65.6% of you chose this answer, making it by far the hardest question on the test, which was a little surprising given that I went over this precise question in class.
(c) Nothing, if growing marijuana is not legal in the jurisdiction. If the condition is invalid, we pencil out the condition, not the underlying remainder.  10.8% of you chose this answer.
(d) A vested remainder subject to divestment, if growing marijuana is legal in the jurisdiction.  This would be true if it were possible for Chris to violate the condition before he comes into possession of the property, but this sort of condition clearly is intended to address Chris’s behavior only after he takes possession.
Questions 4-7 are based on the following information: In 1975, Ed granted Hunter-acre “to Greg for life, then to Greg’s children, but if Greg is not survived by any children, then to Jordan and his heirs.”  At the time, Greg had no children.  In 1977, Greg has a child, Keaghan. In 1997, Keaghan dies leaving all his property in a valid will to the Kirkland-Cabrera Foundation. 

These are ExamBank Questions 12-15 based on Problem 3M.  Questions 4, 6 & 7 are essentially the same as Fall 2007 Questions 15-17 and Fall 2010 Questions 17-19.
(4) In 1975, the interest in Greg’s children is a

 (a) Contingent remainder in fee simple.  The interest is contingent because no children are born yet.  95.7% of you chose this answer, making it tied for the second easiest question on the test.
(b) Contingent remainder in fee simple subject to divestment.  There is no such thing; subject to divestment only modifies “vested remainder.”

(c) Vested remainder in life estate subject to open.  The interest can’t be vested because no children are born.  

(d) Vested remainder in fee simple subject to divestment.  Same as (c).

(5) In 1975, the interest in Jordan and his heirs is a

(a) Contingent remainder. An executory interest must cut off a vested interest (either a present interest or a vested remainder).  Here, the interest follows a contingent remainder, not a vested interest, so it cannot be an executory interest.  Moreover, if Greg never has children, it could simply follow naturally at the end of Greg’s life estate.  79.6% of you chose this answer, making it tied for the 5th hardest question..
(b) Shifting executory interest. See explanation under (a) for why it is not an executory interest.  15.1% of you chose this answer.
(c) Springing executory interest. See explanation under (a) for why it is not an executory interest.  Moreover, if it cuts off anyone, it would be the children, not the grantor, so it would be shifting, not springing.

(d) Vested remainder. It could not be vested because there is a preceding condition that cannot be met until Greg dies.

(6)  When Keaghan is born, which of the following is then correct?

(a) Keaghan has a contingent remainder in fee simple. When Keaghan is born, he gets a vested remainder (because he is living and ascertainable and there is no condition precedent in the grant to the children) subject to open (because more children could be born) subject to divestment (because he could lose his interest prior to coming into possession if Greg dies survived by no children.) This answer is wrong because, given the way the grant is worded, the survival condition is part of the grant to Jordan, not the grant to the children.

(b) Keaghan has a vested remainder in fee simple on executory limitation. This is wrong because Keaghan can only lose the property before coming into possession.  If he moved on to the property, by definition he would have survived Greg and the grant to Jordan would have failed.
(c) Jordan’s interest fails.  So long as Greg is alive, it is possible Greg will eventually die with no surviving children.  The birth of the children doesn’t guarantee that they’ll survive.  Keaghan’s birth simply converts Jordan’s contingent remainder into an executory interest.

(d) Ed’s reversion divests. Because initially there were two contingent remainders, Ed retained a reversion.  When Keaghan is born and the children’s interest vests, the reversion is no longer needed as a placeholder and the reversion divests.  83.9% of you chose this answer.
(7)  When Keaghan dies, what happens to his interest?

(a) It is destroyed. As noted below in (c), the interest can only be destroyed by Jordan’s interest vesting, which cannot happen until Greg’s death.
(b) It passes to his heirs. Keaghan can pass a vested remainder to anyone he wants at his death.  Because he had a valid will, it will pass through the will not by intestacy.

(c) It passes to the Kirkland-Cabrera Foundation. At his death, Keaghan had a vested remainder subject to open subject to divestment.  The interest is not (by its terms) dependent on Keaghan surviving Greg.  Jordan only takes over (divesting Keaghan’s interest) if Greg is survived by no children at Greg’s death.  Since Greg is still alive and can have more children, Jordan’s interest has not vested.  Keaghan’s interest will remain at least until Greg’s death, and is presently held by the Kirkland-Cabrera Foundation.  91.4% of you chose this answer.
(d) None of the above.  

Questions  8-10 are based on the following information: In his valid will, Lance granted Axel-Acre “to Melis for life, then to Nate and his heirs, but if my daughter Samantha marries a public interest lawyer, then to Samantha and her heirs.” At the end of the will, he added, “I leave the rest of my property to William.”  

I have given variations of this problem many times including Fall 2007 Questions 12-14 and Exam Bank Questions 17-19 and 63-64. This version is Fall 2010 Questions 21-23.
(8) Which of the following is true?

(a) Nate has a vested remainder subject to divestment. Nate’s interest is a remainder because it follows a life estate; it is vested because he is alive and ascertainable and no condition precedes his taking; it is subject to divestment because he can lose it before he takes possession if Samantha marries a public interest lawyer. 95.7% of you got this right, making it tied for the 2d easiest question on the test.

(b) Samantha has a contingent remainder. Samantha’s interest follows and would cut off a vested remainder, so it must be an executory interest.
(c) Samantha has a springing executory interest. Samantha’s interest would cut off another grantee, so it is shifting.
(d) William has a reversion. Where a vested remainder in fee follows a life estate, no reversion is created.
(9)  Which of the following facts would not be relevant to the determination of whether Melis’s interest is best characterized as a life estate on executory limitation: 
The issue is whether Samantha’s interest is intended to cut off Melis’s life estate (giving her a life estate on executory limitation) or is just intended to cut off Nate’s interest. As we discussed in class, courts generally treat this as a question of the grantor’s intent. 
(a) Lance repeatedly expressed concern that if Samantha (who thought of herself as a public interest lawyer) married another public interest lawyer, Samantha would starve to death.  If Lance was worried that Samantha would starve, he presumably would want her to have the property immediately.
(b) Melis is in very poor health.  If this is true, it would seem likely that Lance did not intend to evict poor Melis, but rather to have Samantha wait until Melis’s life estate ended.
(c) Nate is Melis’s husband. If Samantha marries a public interest lawyer, Nate will lose his interest regardless of how we characterize Melis’s interest, so I see no reason why this fact would matter. In a prior version of the question, I made the holder of the remainder the daughter of the life tenant, but I don’t think that changes anything. 91.4% of you got this right.
(d) The grant to Samantha includes the word “then.” If the grantor wanted to be clear that the grant to Samantha had to wait for the end of the life estate, using “then” would help to so indicate.
(10)  If the condition that Samantha marry a public interest lawyer is challenged as being against public policy, which of the following facts supports reaching a result in this case different from the result reached in Shapira?  

(a)  When Lance died, Samantha was engaged to be married to a lawyer who worked for a non-profit organization representing indigent clients. If the grant was intended to break up Samantha’s pending marriage, it might violate public policy (the result different from Shapira).  Here, by contrast, the grant might encourage the pending marriage, which is not inconsistent with public policy.
(b) It might be very difficult for a court to determine which attorneys are “public interest lawyers”. One of the factors that worked in favor of the grant in Shapira was the relative ease of determining whether the sons’ spouses were Jewish girls born of Jewish parents.  By contrast, there might be some controversy about who really is a “public interest lawyer;” many lawyers claim to be working in the public interest, but there is a lot of debate about who really does so.  Thus, a court might not wish to make this difficult and sometimes controversial determination, which would support a result different from that in Shapira. 93.5% of you got this right, making it tied for the 5th easiest question on the test.
(c) There are thousands of attorneys who consider themselves “public interest lawyers” residing in the city where Samantha lives. This supports reaching the same result as Shapira because of the wide range of possible spouses.
(d) All of the above.

Question 11 is based on the following information: In 2006, Anthony granted Wolfe-acre “to Becky for life, then to Erik and his heirs, but if Erik ever allows Becky to be moved into a nursing home, then to Gerry and his heirs.”  Becky died in 2010.
This is a new problem based on Workbook Problem 9-11 (which we reviewed during the last class on Chapter 3).   The key points are:

(i) As in Problem 3N, Erik has a vested remainder, because the condition is attached to Gerry’s interest, not Erik’s; and 
(ii) The condition must be resolved during Becky’s life estate, since presumably Anthony doesn’t care if Becky is moved into a nursing home after she is dead.
(11)  Which of the following is true? 

(a) At the time of the grant, Anthony had a reversion. Again, where a vested remainder in fee simple follows a life estate, no reversion is created.
(b) At the time of the grant, Becky had a life estate on condition subsequent. The grantor might have intended Gerry’s interest to cut off the life estate because, if Becky is in a nursing home, she would not need to live in Wolfe-acre.  However, if that were true, because the future interest is held by a grantee, Becky would have a life estate on executory limitation.
(c) At the time of the grant, Erik had a vested remainder subject to divestment. This is true because Gerry’s interest would cut off Erik’s vested remainder, if at all, before it becomes possessory.  89.2% of you got this right.
(d) After Becky died, Gerry had a shifting executory interest. This was true at the time of the grant, but not after Becky’s death.  If Becky had been moved into a nursing home before she died, Gerry would have a fee simple.  If she hadn’t, the condition could never be met, so Gerry would have nothing.
Question 12 is based on the following information: In her valid will in 2010, Grace granted River-acre “to Jenna for life, then to those of my children who survive me by at least one year.”  At the end of the will, she left the residue of her estate to Kathy.  Grace was survived by three children, Alex, Ali and Australia.
This is a variation on Fall 2010 Question 24.  The condition is changed from “attended my funeral” to“ survive me by at least one year,” but it still can only be met some time after the time of the grant.
At Grace’s death, Jenna has a life estate, the children have a contingent remainder (their interest is conditioned on surviving an additional year).  Grace retained a reversion, which passed through the residuary clause to Kathy. 


After the year has passed, those children who are still alive have vested remainders.  At that time, any children who are alive meet the condition; those who are dead do not.  Since no other children can meet the condition, the remainders are not “subject to open.”  If any children met the condition, then Kathy’s reversion divests when the children’s remainder vests. 

(12) Which of the following statements is correct?

(a) During the year after Grace’s death, Jenna could obtain a fee simple absolute by purchasing Kathy’s interest in River-acre so long as the jurisdiction allows the alienation of possibilities of reverter and rights of entry. Kathy has a reversion, so the alienability of these other interests is not relevant.  During the time indicated, Jenna could obtain a fee simple absolute by purchasing Karthy’s interest only if the jurisdiction destroys contingent remainders. 
(b) During the year after Grace’s death, Grace’s children would have executory interests.  This would be true if the children interest was conditional on surviving for a year after the life estate holder (as opposed to the grantor).  Because the children are able to meet the condition during Jenna’s life estate, their interests are characterized as remainders.
(c) If Alex and Ali survive Grace by a year, they then would have vested remainders subject to open.  As noted, the remainders are not subject to open once the year has passed..
(d) If Alex and Ali survive Grace by a year, then Kathy would not have any interest in River-acre.  92.5% of you chose this answer.
Questions 13-16 are based on the following grant:  In 2001, Alyssa’s valid will granted Schultz-acre “to my friend Ben if he lights a candle in my memory once a week in a Christian church, but if he ever ceases to do so, the property should be retaken.” 

This is mostly the same as Exam Bank Questions 5-8 and similar to Exam Bank Questions 51-54.
(13) Which one of the following arguments supports characterizing Ben’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent)?

(a) The condition requires Ben to act on a continuing basis.  To the extent it’s relevant, this might support treating the grant as a fee simple on condition subsequent so that the holder of the future interest could exercise judgment as to when there’s been a substantial enough violation to justify re-entry.  

(b) The future interest was retained by the grantor. This is true both of the fee simple determinable and the fee simple on condition subsequent, so it does not help you decide between them.

(c) The grant uses the word “ever.” As we discussed in the context of Mahrenholz, “ever” suggests that any breach at all should violate the condition, supporting the interpretation that the property interest transfers automatically.  92.5% of you chose this answer.
(d) Most states have a presumption in favor of the fee simple determinable. This is incorrect; most states have a presumption in favor of the fee simple on condition subsequent.
(14) All of the following arguments support characterizing Ben’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Under the reasoning of Mahrenholz, the property is not being conveyed just for one particular purpose.  Mahrenholz suggests that it is only appropriate to use a fee simple determinable when the property is being conveyed for a particular purpose. That is not true here—there is no limit on use of the property at all—supporting treating this grant as a fee simple on condition subsequent.  18.3% of you chose this answer.
(b) Most states have a presumption in favor of the fee simple on condition subsequent.  This is true.

(c) It will be easy to determine at what point the condition has been violated.  I changed this answer from “difficult to determine” to “easy to determine,” but it is still the right answer. The sentence is now factually correct because it should not be very difficult to identify when the condition is violated:  when one week goes by without the necessary candle.  However, being easy to determine makes it more likely that a court would be comfortable treating the grant as self-executing, and so it does not support characterizing the fee as on condition subsequent.  76.3% of you chose this answer, making it tied for the 3d hardest question on the test.
(d) Saying that the property “should” be retaken seems to leave the holder of the interest more discretion than saying that it “will” or “must” be retaken.  This is a sensible argument relating to the grantor’s intent; the use of should may show an intent to give the holder of the interest the option of when to exercise the right.  Cf. Mahrenholz:  “will revert to grantor.”  
Questions 15-16 are based on the same grant as Questions 13-14 and the following additional information:  Erica is Alyssa’s legal heir and the holder of the future interest in Schultz-acre created by her will.  In November 2005, Ben was hospitalized for a month and had Jason light the candles for him during that time.  

(15) All of the following arguments support Ben’s claim that Erica is not entitled to retake Schultz-acre except:

(a) Erica knew that Ben had had Jason light the candles for him when Ben went out of town for three weeks in May 2003 and Erica had not indicated at that time that she objected. As we noted in the discussion of defeasible fees, courts can find that the holder of the future interest may be barred from trying to re-enter if the holder has appeared to allow similar conduct to go unchallenged.
(b) It would be against public policy to require the court to enforce any condition that has religious significance.  This was a new option.  Although there might be situations where public policy would make a religious condition unenforceable, this statement is far too broad to be correct.  It would not only reverse the result in Shapira itself, it would appear to invalidate, e.g., any grant to a religious institution “for church purposes.”  88.2% of you chose this answer, 
(c) It would be against public policy to require Ben to leave his hospital bed in order to retain ownership of Schultz-acre. This certainly seems a plausible argument.  None of the other grants we read would seem to require this kind of affirmative step against the interest of the grantee.

(d)  Ben did the best he could to fulfill the grantor’s intent. Given his own physical difficulties, Ben managed to have someone else do the task for him.  Although a court could reject this position, I think it likely that, in a close case, the court is more likely to be sympathetic to an owner who did his best than one who didn’t try very hard.

(16) Which of the following arguments support Erica’s claim that she is entitled to retake Schultz-Acre?
I changed this question from one asking for the argument that did not support Erica’s claim and I replaced what had been the correct answer to the old question with “All of the above.” As the other three choices all support Erica’s claim, “All of the above” is correct here.
(a) Enforcing the condition does not require the court to engage in difficult inquiries about whether Ben’s actions and beliefs comply with a particular religion. As we noted in the discussion of Shapira, courts prefer to have object ways to determine if the condition is being met.  The grant doesn’t require a particular set of beliefs by Ben, just an action that is relatively easy to check.

(b)  The grant literally says that Ben has to light the candles himself. Literal arguments often represent the best indication of the grantor’s intent.  Certainly if the grant said Ben “must have candles lit” he would be OK here.

(c)  Ben had no right to receive property from Alyssa, so he should be subject to nearly any restrictions Alyssa chooses to impose.  This would be a sensible response to a claim by Toni that the condition should not be enforced because it is too burdensome.  53% of 2002 students and 65% of the 2003 students chose this answer, presumably because it does not address whether the condition itself is violated.
(d) All of the above.  89.2% of you chose this answer.
Questions 17-18  are based on the following information:  Justin died in 2002 leaving a valid will that included the following language: “I leave my sister Melanie my house so that she will always have a place to live, but if Melanie ever moves out of the house, then to my cousin Nicole.  I leave my diamonds to Nicole.  I leave the remainder of my property to my friend Perry.”

This is essentially Exam Bank Questions 16-17 roughly based on White v. Brown.   
(17) Which of the following arguments support treating Melanie’s interest as a defeasible fee simple (as opposed to a defeasible life estate)?

(a) There is a presumption in favor of the fee simple. This presumption exists in all jurisdictions and is the strongest argument on this side of the issue.  84.9% of you got this right.
(b) The grant of the house is worded differently from the grant of the diamonds. This fact supports treating Melanie’s interest as a life estate, since the differences tend to indicate that the interest in the house is more circumscribed.

(c) Melanie’s interest could be cut off by Nicole’s interest. This was a new choice.  Although it is factually correct, it would be equally true whether Melanie’s interest is a life estate or a fee, so it doesn’t tell us anything about which characterization to employ.
(d) All of the above.  14% of you chose this answer, presumably because all three statements were factually true.
(18) What is Perry’s interest in the house?

(a) If a court holds that Melanie has a defeasible fee, Perry has a possibility of reverter. Perry would not get a possibility of reverter because, if the condition is violated, the property goes to Nicole.

(b) If a court holds that Melanie has a defeasible fee, Perry has nothing. If Melanie has a defeasible fee, Nicole holds a shifting executory interest, and no interest remains for Perry to hold in the house. 75.3% of you got this right, making it the 2d hardest question on the test.
(c) If a court holds that Melanie has a defeasible life estate, Perry gets both a possibility of reverter and a reversion that merge into a reversion.  Same as (a). 12.9% of you chose this answer.
(d) If a court holds that Melanie has a defeasible life estate, Perry has a vested remainder.  As written, if the grant to Melanie is treated as a life estate, Justin retained the reversion himself, and it then passes to Perry through the residuary clause.  Perry thus gets a reversion, because no remainder is expressly created.  This is like Problem 3O. 

Questions 19-22 are based on the following grant: Gus grants Swartz-acre “to John for life, then to Maria on the condition that she graduates from medical school, but if Maria never graduates from medical school, then to Stephen.”

This is essentially Exam Bank Questions 57-60 and Fall 2010 Questions 4-7.  Questions 19-20 are also variations of Fall 2007 Questions 9-10

John gets a life estate.  Maria and Stephen have alternate contingent remainders (either Maria graduates from medical school before she dies and her interest vests or Maria dies without graduating and Stephen’s interest vests).  As is always true when there are contingent remainders, Gus retains a reversion.
(19) If the grant takes place in 2013, all of the following interests are created except:

(a) Reversion in Gus.  16.1% of you picked this answer, presumably because there were alternative contingent remainders.  However, as the slides and old questions make clear, whenever there are alternative contingent remainders, there must also be a reversion, even if it seems logically impossible for the property ever to go back to the grantor.  In any event, here, as Question 21 makes clear, there is an obvious situation in which the reversion will be needed. 

(b) Life estate in John.


(c) Contingent remainder in Maria.

(d) Shifting executory interest in Stephen.  If Maria had a vested remainder, this would be correct, but Stephen’s interest will not cut off a present or vested estate, so it is also a remainder.  76.3% of you chose this answer, making it tied for the 3d hardest question on the test.
20) Assume that Maria graduated from medical school, then died leaving a valid will devising all her property to Mark.  Subsequently John died intestate.  If the grant took place “at common law,” who would then have the right to possess Swartz-acre?
When Maria graduates, her remainder vests and Stephen’s remainder fails.  However, at common law, Maria’s vested remainder is in life estate, because the grant does not say “and her heirs.”  Thus, when she dies, her interest dies with her.  At John’s death, Gus’s reversion (which must follow the remainders in life estate) becomes possessory.

(a) Gus, because of the Doctrine of Destructibility of Contingent Remainders. The destructibility doctrine would come into play if John had died before Maria’s interest vested, but it doesn’t affect a vested interest.


(b) Gus, because of the presumption favoring life estates.   89.2% of you got this right.

(c) Mark, because Maria’s interest vested before John’s death.  Because Maria’s interest was in life estate, it could not survive Maria’s death. 

(d) Stephen, because of the Doctrine of Destructibility of Contingent Remainders.  Stephen’s interest fails as soon as Maria graduated (either at common law or today).
(21) Assume instead that John died while Maria was still alive, but Maria had not yet graduated from medical school.  If the grant took place in 2013, which of the following would be true if the jurisdiction does not destroy contingent remainders?
The conditions that would vest the two contingent remainders have not been met at John’s death, so Gus’s reversion becomes possessory.  Since the jurisdiction doesn’t destroy contingent remainders, they become springing executory interests and we’ll characterize Gus’s interest as a fee simple on executory limitation. 
(a) Gus would have a fee simple on executory limitation.  84.9% of you chose this answer.
(b) Maria and Stephen would have alternate contingent remainders. Once the life estate is gone, these interests cannot be remainders because they no longer are waiting for the end of a finite estate.  
(c) Stephen would have a fee simple absolute. This would be true if we knew for sure that Maria will never graduate from medical school, but we won’t know that until her death.
(d) None of the above. 

(22) Assume instead that shortly after the grant was executed, Gus repurchased John’s interest in Swartz-acre.  If the grant took place “at common law,” and Maria was still alive but had not yet graduated from medical school, Gus would then have:
Gus retained a reversion, so when he purchases John’s life estate, the two interests merge into a fee simple.  At common law, the Doctrine of Destructibility of Contingent Remainders would then destroy both contingent remainders, leaving Gus with a fee simple absolute. 
(a) Fee simple absolute. 82.8% of you chose this answer.
(b) Fee simple on executory limitation.  This would be true if the Destructibility Doctrine didn’t apply, which would be true in most modern jurisdictions.
(c) Life estate.


(d) Life estate pur autre vie. This would be true if Gus did not have a reversion. 
Questions 23-24 are based on the following information:  In 2000, Gaby granted Berman-acre “to Marc for life, remainder to those children of Marc who live to age 21 and their heirs.”  In 2000, Marc had one child, Sara, who was 14 years old.

This is Exam Bank Questions 9-10
(23) At the time of the grant, how should the interest in Marc’s children be characterized? 

(a) Shifting executory interest. The interest calls itself a remainder and can follow naturally at Marc’s death, so it is not an executory interest.

(b) Vested remainder subject to open.  The interest is not vested because Sara must still turn 21 to take anything at all. 16.1% of you chose this answer.
(c) Contingent remainder. The children’s interest is subject to a condition precedent:  that they turn 21. Sara has not yet turned 21, so it is a contingent remainder.    79.6% of you got this right, making it tied for the 5th hardest question on the test.
(d) Contingent remainder subject to open.  There is no such thing.  The phrase “subject to open” only modifies “vested remainder.”
(24) Suppose Sara turns 21 in 2007, and dies shortly thereafter, leaving all her property to Bryan in a valid will.  In 2012, Marc dies survived by no living children. Gaby is still alive. Who is entitled to possession of Berman-acre?

(a) It depends on whether Marc had any other children who were born between 2000 and 2012.  Because children who fit this description could not have turned 21 before they died, they could have no interest in the property at all.


(b) Gaby. Gaby’s reversion would divest as soon as Sara’s remainder vested.  Thus, Gaby has no interest left when Sara dies.
(c) Sara’s heirs.  Sara’s heirs are those people who would take from her under the relevant state statute if she died without a will.  Here, because Sara left a valid will, the property would not pass through intestacy.

(d) Bryan. Sara’s remainder vested when she turned 21.  There is no requirement in the grant that she survive Gaby.  Thus, she could pass it through a will at her death.  95.7% of you got this right, making it tied for the 2d easiest question on the test.
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